DIDDLEBURY PARISH PLAN 2012 REFRESH COMMUNITY SURVEY

		COMMONT TOOKVET	
		SECTION 1 - ABOUT YOU	
Q1 1	Please enter the number of	males and females in your househo	old in each age group
٠	i iodos ontor tilo ridinisor or	MALES:	FEMALES:
	Under 16	2 (100.0%)	1 (100.0%)
	16-19	1 (100.0%)	0 (0.0%)
	20-29	0 (0.0%)	1 (100.0%)
	30-59	6 (100.0%)	6 (100.0%)
	60-74		
		3 (100.0%)	4 (100.0%)
	Over 74	1 (100.0%)	1 (100.0%)
Q1.2		you live or are nearest to? Please ti	ck one box:
	Bouldon 11 (100.0%)		
Q1.3	How long have you lived in	this Parish? Please tick one box:	
	Less than 6 2 (20.0%) 6-	-15 years 6 (60.0%) 16-30 years	1 (10.0%) Over 30 years. 1 (10.0%)
	years		
Q1.4	Employed in the Parish		
		MALES:	FEMALES:
	Under 16	0 (0.0%)	0 (0.0%)
	16-19	0 (0.0%)	0 (0.0%)
	20-29	0 (0.0%)	0 (0.0%)
	30-59	0 (0.0%)	0 (0.0%)
	60-74	0 (0.0%)	0 (0.0%)
	Over 74	0 (0.0%)	1 (100.0%)
Q1.5	Employed outside the Paris	h but within 10 miles travel	
		MALES:	FEMALES:
	Under 16	0 (0.0%)	0 (0.0%)
	16-19	0 (0.0%)	0 (0.0%)
	20-29	0 (0.0%)	0 (0.0%)
	30-59	0 (0.0%)	2 (100.0%)
	60-74	0 (0.0%)	0 (0.0%)
	Over 74	0 (0.0%)	0 (0.0%)
		,	,
Q1.6	Employed outside the Paris	h - over 10 miles travel	
		MALES:	FEMALES:
	Under 16	0 (0.0%)	0 (0.0%)
	16-19	0 (0.0%)	0 (0.0%)
	20-29	0 (0.0%)	0 (0.0%)
	30-59	2 (100.0%)	1 (100.0%)
	60-74	0 (0.0%)	1 (100.0%)
	Over 74	0 (0.0%)	0 (0.0%)
		,	,
Q1.7	Running own Business/ Ent	terprise in the Parish	
		MALES:	FEMALES:
	Under 16	0 (0.0%)	0 (0.0%)
	16-19	0 (0.0%)	0 (0.0%)
	20-29	0 (0.0%)	0 (0.0%)
	30-59	2 (100.0%)	1 (100.0%)
	60-74	0 (0.0%)	1 (100.0%)
	Over 74	1 (Ì00.0%)	0 (0.0%)
.	.	, .	
Q1.8	Running Own Business/ En	-	
		MALES:	FEMALES:
	Under 16	0 (0.0%)	0 (0.0%)
	16-19	0 (0.0%)	0 (0.0%)
	20-29	0 (0.0%)	0 (0.0%)
	30-59	0 (0.0%)	0 (0.0%)
	60-74	0 (0.0%)	0 (0.0%)

	Over 74 MALES:	Under 16	0 (0.0%)	0 (0.0%)
Q1.9	Retired			
Q1.3	Under 16 16-19 20-29 30-59 60-74 Over 74		MALES: 0 (0.0%) 0 (0.0%) 0 (0.0%) 1 (100.0%) 3 (100.0%) 0 (0.0%)	FEMALES: 0 (0.0%) 0 (0.0%) 0 (0.0%) 1 (100.0%) 2 (100.0%) 0 (0.0%)
Q1.10	Pre educa	tion		
	Under 16 16-19 20-29 30-59 60-74 Over 74		MALES: 1 (100.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%)	FEMALES: 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%)
Q1.11	In Educati	on or Training		
	Under 16 16-19 20-29 30-59 60-74 Over 74		MALES: 1 (100.0%) 1 (100.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%)	FEMALES: 1 (100.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%)
Q1.12	2 Unpaid Fa	mily Support (Carer)		
	Under 16 16-19 20-29 30-59 60-74 Over 74		MALES: 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%)	FEMALES: 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%)
Q1.13	Looking fo	or work		
	Under 16 16-19 20-29 30-59 60-74 Over 74		MALES: 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%)	FEMALES: 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%)
Q1.14	Not lookin	g for work		
	Under 16 16-19 20-29 30-59 60-74 Over 74		MALES: 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%)	FEMALES: 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%)
Q1.15	Stay at ho	me parent		
	Under 16 16-19 20-29 30-59 60-74	•	MALES: 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%)	FEMALES: 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%) 0 (0.0%)

Over 74 0 (0.0%)	0 (0.0%)
------------------	----------

Q1.16 Unable to work

	MALES:	FEMALES:
Under 16	0 (0.0%)	0 (0.0%)
16-19	0 (0.0%)	0 (0.0%)
20-29	0 (0.0%)	1 (100.0%)
30-59	0 (0.0%)	1 (100.0%)
60-74	0 (0.0%)	0 (0.0%)
Over 74	0 (0.0%)	0 (0.0%)

Q1.17 If you are running a business or an enterprise within the Parish could you please tick which sector best fits your business.

Agriculture	1 (50.0%)	Services	0 (0.0%)
		Manufacturing	
		Distribution	
		Shooting and Fishing	
Other (please give details) • Ch		3	()

Q1.18 If you are running a business or an enterprise within the Parish could you please indicate how many people you employ (excluding yourself).

Type of business

Home based		. 2 (100.0%)
Business premises		. 1 (50.0%)
Number of employees living in the Parish	1 (100.0%)	,
Number of employees living outside in the Parish	1 (100.0%)	

SECTION 2 - PARISH AMENITIES

Q2.1 How often does your household use these amenities? Please tick one box per row:

	Never	Once or twice a	About 6 times a	Monthly	Weekly
		year	year		
Diddlebury Village Hall	1 (9.1%)	6 (54.5%)	1 (9.1%)	1 (9.1%)	2 (18.2%)
Diddlebury Parish	3 (33.3%)	5 (55.6%)	1 (11.1%)	0 (0.0%)	0 (0.0%)
Community Room					
Westhope Village Hall	7 (77.8%)	2 (22.2%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Local Pubs	1 (11.1%)	0 (0.0%)	1 (11.1%)	3 (33.3%)	4 (44.4%)
Local Churches	3 (30.0%)	4 (40.0%)	1 (10.0%)	2 (20.0%)	0 (0.0%)
Local shop (Aston	1 (10.0%)	4 (40.0%)	4 (40.0%)	1 (10.0%)	0 (0.0%)
Munslow)	, ,	· · ·	, ,	, ,	, ,

Q2.2 What is your households view about the standard of village hall facilities in the Parish? Please tick one box per row:

	Good	Adequate	Poor	Don't know
Diddlebury village hall	0 (0.0%)	3 (27.3%)	7 (63.6%)	1 (9.1%)
Westhope village hall	0 (0.0%)	2 (18.2%)	0 (0.0%)	9 (81.8%)

Q2.3 What village hall facilities would your household like to be improved? Please tick as many boxes as appropriate:

Diddlebury	Westhope
6 (100.0%)	0 (0.0%)
2 (100.0%)	0 (0.0%)
4 (100.0%)	0 (0.0%)
1 (100.0%)	0 (0.0%)
2 (100.0%)	0 (0.0%)
1 (100.0%)	0 (0.0%)
3 (100.0%)	0 (0.0%)
4 (100.0%)	0 (0.0%)
3 (100.0%)	0 (0.0%)
3 (100.0%)	0 (0.0%)
	6 (100.0%) 2 (100.0%) 4 (100.0%) 1 (100.0%) 2 (100.0%) 1 (100.0%) 3 (100.0%) 4 (100.0%) 3 (100.0%)

Other (please give details)

- D Building needs replacement of total refurbishment
- Having visited the halls on such few occasions am not qualified to make detailed appraisals
- D facilities for young people and children, the Olympic legacy to be borne in mind!

	Yes		8 (80.0%)	No		2 (20.0%)
2.5	Is there an activity tha If Yes, please give deta					all?
						9 (100.0%)
	Deservery beverbeld	4h:nl:4ha ha	ll and playing fiel	ld facilities at Com	vedele Cabaal abavild l	
2.6	Does your household to the parish outside s				vedale School Should I	be available
						1 (11.1%)
_	1401 1 641 4 1	,•				D 110
2.7	Which of these outdoo Please tick as many be			ald your househol	d use if available in the	Parish?
				2 (33.3%)	Sports Field	1 (16.7%)
	(swings etc)		•	, ,	·	, ,
	Children's skate		Tennis Court	3 (50.0%)	Benches / Seats	3 (50.0%)
	boarding area Children's bike riding		Groon areas	2 (33.3%)		
	area	` ,	Green areas	2 (33.376)		
	Other (please give detail					0 (0.0%
0	In what ways, if any, d	nes vour ho	usahald usa St. F	Potore church Die	ldlahury? Plaasa tick a	e many
.0			ascrioia asc ot. i	reters church, Dit	diebury: I lease lick a	is illally
.0	boxes as appropriate: Attend regular services	-	Venue for cultura	2 (50.0%)	Peaceful place for private prayer	2 (50.0%)
0	boxes as appropriate: Attend regular services Baptisms/weddings/fun	0 (0.0%) 1 (25.0%)	Venue for cultura events	2 (50.0%)	Peaceful place for	2 (50.0%)
.0	boxes as appropriate: Attend regular services Baptisms/weddings/fun erals	0 (0.0%) 1 (25.0%)	Venue for cultura events School events	2 (50.0%)	Peaceful place for	2 (50.0%)
0	boxes as appropriate: Attend regular services Baptisms/weddings/fun	0 (0.0%) 1 (25.0%) 9 1 (25.0%)	Venue for cultura events School events	2 (50.0%)	Peaceful place for	2 (50.0%)
.0	boxes as appropriate: Attend regular services Baptisms/weddings/fun erals Christmas/Easter/Harve	0 (0.0%) 1 (25.0%) 1 (25.0%)	Venue for cultura events School events	2 (50.0%)	Peaceful place for	2 (50.0%)
8	boxes as appropriate: Attend regular services Baptisms/weddings/fun erals	0 (0.0%) 1 (25.0%) 2 1 (25.0%) ils)	Venue for cultura events School events Historic building	2 (50.0%) 	Peaceful place for private prayer	2 (50.0%) 0 (0.0%
2.9	boxes as appropriate: Attend regular services Baptisms/weddings/fun erals	0 (0.0%) 1 (25.0%) 2 1 (25.0%) ils) household	Venue for cultura events School events Historic building	2 (50.0%) 	Peaceful place for private prayer	2 (50.0%) 0 (0.0%
	boxes as appropriate: Attend regular services Baptisms/weddings/fun erals	0 (0.0%) 1 (25.0%) 1 (25.0%) 1 (25.0%) ils) household	Venue for cultura events School events Historic building like the following	2 (50.0%)	Peaceful place for private prayer	2 (50.0%) 0 (0.0% ary? Please
	boxes as appropriate: Attend regular services Baptisms/weddings/fun erals Christmas/Easter/Harve st Other (please give deta Would anyone in your tick as many boxes as Coffee after services A mid-week after schoo	0 (0.0%) 1 (25.0%) 1 (25.0%) ils) household appropriate	Venue for cultura events School events Historic building like the following :	2 (50.0%)	Peaceful place for private prayer	2 (50.0%) 0 (0.0% ary? Please 2 (100.0%)
	boxes as appropriate: Attend regular services Baptisms/weddings/fun erals Christmas/Easter/Harve st Other (please give detail Would anyone in your tick as many boxes as Coffee after services A mid-week after schoo young people such as 'I	0 (0.0%) 1 (25.0%) 1 (25.0%) ils) household appropriate I service for Messy Churc	Venue for cultura events	2 (50.0%)	Peaceful place for private prayereters church, Diddlebu	2 (50.0%) 0 (0.0% ary? Please 2 (100.0%) 0 (0.0%)
	boxes as appropriate: Attend regular services Baptisms/weddings/fun erals Christmas/Easter/Harve st Other (please give detail Would anyone in your tick as many boxes as Coffee after services A mid-week after schoo young people such as 'I A choir, possibly in conj	0 (0.0%) 1 (25.0%) 1 (25.0%) ils) household appropriate I service for Messy Churc iunction with	Venue for cultura events	2 (50.0%)	Peaceful place for private prayer eters church, Diddlebut prayer chain	2 (50.0%) 0 (0.0% ary? Please 2 (100.0%)
	boxes as appropriate: Attend regular services Baptisms/weddings/fun erals Christmas/Easter/Harve st Other (please give detail Would anyone in your tick as many boxes as Coffee after services A mid-week after schoo young people such as 'I	0 (0.0%) 1 (25.0%) 1 (25.0%) ils) household appropriate I service for Messy Churc iunction with	Venue for cultura events	2 (50.0%)	Peaceful place for private prayereters church, Diddlebu	2 (50.0%) 0 (0.0% ary? Please 2 (100.0%) 0 (0.0%)
.9	boxes as appropriate: Attend regular services Baptisms/weddings/funerals Christmas/Easter/Harvest Other (please give detail Would anyone in your tick as many boxes as Coffee after services A mid-week after school young people such as 'I A choir, possibly in conjicorvedale School Pastoral work and visiting	0 (0.0%) 1 (25.0%) 1 (25.0%) ils) household appropriate appropriate Uservice for Messy Churc iunction with	Venue for cultura events	2 (50.0%)	Peaceful place for private prayer eters church, Diddlebut prayer chain	2 (50.0%) 0 (0.0% ary? Please 2 (100.0%) 0 (0.0%) 1 (50.0%)
.9	boxes as appropriate: Attend regular services Baptisms/weddings/fun erals	0 (0.0%) 1 (25.0%) 1 (25.0%) ils) household appropriate appropriate uservice for Messy Churc function with	Venue for cultura events	2 (50.0%)	Peaceful place for private prayer eters church, Diddlebut prayer chain	2 (50.0%) 0 (0.0%) 2 (100.0%) 0 (0.0%) 1 (50.0%)
.9	boxes as appropriate: Attend regular services Baptisms/weddings/fun erals Christmas/Easter/Harve st Other (please give detal Would anyone in your tick as many boxes as Coffee after services A mid-week after schoo young people such as 'I A choir, possibly in conj Corvedale School Pastoral work and visitin Does your household Never	0 (0.0%) 1 (25.0%) 1 (25.0%) 1 (25.0%) household appropriate of the same of th	Venue for cultura events	2 (50.0%)	Peaceful place for private prayer eters church, Diddlebut prayer chain	2 (50.0%) 0 (0.0%) 2 (100.0%) 0 (0.0%) 1 (50.0%)

Q3.1 What does your household think of the current level of sports and social activities in the Parish for each age group? Please tick one box per row:

	Good	Adequate	Poor	Don't know
Under 11	0 (0.0%)	1 (16.7%)	1 (16.7%)	4 (66.7%)
11-15	0 (0.0%)	0 (0.0%)	2 (33.3%)	4 (66.7%)
16-19	0 (0.0%)	0 (0.0%)	2 (33.3%)	4 (66.7%)
20-29	0 (0.0%)	0 (0.0%)	1 (16.7%)	5 (83.3%)
30-59	0 (0.0%)	3 (42.9%)	1 (14.3%)	3 (42.9%)
60+	2 (25.0%)	2 (25.0%)	1 (12.5%)	3 (37.5%)

Q3.2 Which of these activities does your household use or would consider using if available in the Parish? Please tick as many boxes as appropriate:

Football team	1 (11.1%)	Indoor bowls	2 (22.2%)	History club	4 (44.4%)
Book club	2 (22.2%)	Fitness/dance group	2 (22.2%)	Music society	1 (11.1%)
Rugby team	0 (0.0%)	Gardening club	4 (44.4%)	Vocational/social	2 (22.2%)
		_		opportunities eg. home	
				baking/DIY/ decorating	

Other (please give details) • Corvedale choir

- Political issues society/forum
- Youth club, sports club

Q3.3 If you have children and young people in your household, how often do they use or would they use the following activities if available in the Parish? Please tick one box per row:

	Never	Once or twice a	About 6 times a	Monthly	Weekly
		year	year		
Children's holiday play schemes	1 (50.0%)	1 (50.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
After-school activities	2 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Cubs/Scouts/Brownies/Guides	1 (50.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (50.0%)
Parents and Toddlers	1 (50.0%)	0 (0.0%)	1 (50.0%)	0 (0.0%)	0 (0.0%)
Playgroup	1 (50.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (50.0%)
Youth club	2 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Discos	2 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Sports activities	2 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)

Q3.4 If members of your household do not take part in any leisure activities within the Parish, please indicate why. Please tick boxes as appropriate:

Not interested	2 (40.0%)	Unsuitable opening	1 (20.0%)	Access problems	0 (0.0%)
		times		(physical)	
No transport	1 (20.0%)	Too expensive	0 (0.0%)	Poor publicity	2 (40.0%)
Other (please give detail	/s) ● Alre	ady heavily committed els	sewhere		

• No children so Q 1,2,3 do not apply

SECTION 4 - ROADS, FOOTPATHS & TRANSPORT

Q4.1 What is your household's usual means of transport? Please tick one box:

Car	10	Motorcycle/scooter/mope	0 (0.0%)	Lifts with others	0 (0.0%)
((100.0%)	d			
Community Transport	0 (0.0%)	Bicycle	0 (0.0%)	Walking	0 (0.0%)
(Buzzard)					
Bus	0 (0.0%)	Taxi	0 (0.0%)		

Q4.2 Which of these road safety features does your household think are needed in the Parish? Please tick one box per row and if necessary please provide details or concerns in the comment box below

•	Essential	Desirable	Not necessary	Don't know
a) Lower speed limits on B4368	3 (33.3%)	3 (33.3%)	3 (33.3%)	0 (0.0%)
b) Lower speed limits through village / hamlets	1 (14.3%)	2 (28.6%)	4 (57.1%)	0 (0.0%)
c) 20mph limit in the vicinity of the school	2 (20.0%)	5 (50.0%)	3 (30.0%)	0 (0.0%)
d) Speed cameras in village / hamlets	1 (12.5%)	0 (0.0%)	7 (87.5%)	0 (0.0%)
e) Flashing speed signs in village / hamlets	2 (22.2%)	3 (33.3%)	4 (44.4%)	0 (0.0%)
f) Improvements to junction of Mill Lane, Diddlebury and B4368	2 (22.2%)	2 (22.2%)	4 (44.4%)	1 (11.1%)
g) Improved road junctions elsewhere	4 (50.0%)	1 (12.5%)	1 (12.5%)	2 (25.0%)
h) Traffic calming measures	1 (12.5%)	3 (37.5%)	3 (37.5%)	1 (12.5%)
i) Road widening	0 (0.0%)	3 (42.9%)	4 (57.1%)	0 (0.0%)

j) Improved passing	0 (0.0%)	7 (77.8%)	2 (22.2%)	0 (0.0%)
places on lanes k) More grit bins	1 (16.7%)	3 (50.0%)	2 (33.3%)	0 (0.0%)

Please give details here for a-k •

- Need to be sure that 'improvements' d-i would actually be achievement and not cause an explosion of extra road signs
- More warning and speed control at Beambridge crossroads with B4368

Q4.3 Is your household aware of any other danger spots on the roads in the Parish? Please give details here

- I ride a bike often but the B4368 is VERY dangerous for bikes in places due to narrowing of road and fast speed of traffic
- Turning right out of Bouldon where main road to Heath turns sharply to left
- Lack of footpaths where families walking to and from school
- At Beambridge road junction onto B4368 when emerging on minor road from Broncroft direction visibility to right impeded by position of road sign on B4368, and more warnings and/or traffic calming needed on B road
- Temporary speed camera at Hungerford (not sure if this is in the parish)
- Beambridge crossroads on B4368, personally crashed, witnessed many other crashes. Another household in my village affected. Danger is drivers on B4368 driving too fast for cars emerging to pull out 40mph at most is my recommendation.

Q4.4 Which of these improvements to pedestrian, equestrian and motor traffic does your household think are important for the Parish? Please tick one box per row and if necessary please provide details or concerns in the comment box below

	Essential	Desirable	Not necessary	Don't know
a) Footpaths along the	3 (30.0%)	5 (50.0%)	0 (0.0%)	2 (20.0%)
B4368				
b) Continuous footpath in	3 (33.3%)	3 (33.3%)	1 (11.1%)	2 (22.2%)
Mill Lane, Diddlebury				
c) Footpaths elsewhere	0 (0.0%)	2 (28.6%)	3 (42.9%)	2 (28.6%)
in the Parish				
d) Improved off road	1 (14.3%)	2 (28.6%)	2 (28.6%)	2 (28.6%)
public footpaths and				
bridleways	- (()		- (()	- (()
e) Dedicated cycle ways	2 (25.0%)	1 (12.5%)	5 (62.5%)	0 (0.0%)
between village / hamlets	- (()			- ()
f) Turning area for	0 (0.0%)	1 (12.5%)	1 (12.5%)	6 (75.0%)
delivery vehicles in				
Corfton Bache	4 (== 40()	0 (00 00()	0 (0 00()	4 (4 4 00()
g) Improved road	4 (57.1%)	2 (28.6%)	0 (0.0%)	1 (14.3%)
drainage				

Please give details here for a-g

- Cvcleway
- g) improving drainage required in various locations to minimise road flooding
- Dedicated cycle ways would enable young people to get about. Road drainage is shocking and causes repeated damages to road

Q4.5 Does anyone in your household experience transport difficulties getting in and out of the Parish? Please tick one box:

Daily	1 (10.0%)	Rarely	5 (50.0%)
Weekly	1 (10.0%)	Never	3 (30.0%)
Monthly	0 (0.0%)		

Please give details of any problems •

- · Only in times of flood
- Only after very severe heavy rain
- Not likely to until unable to use own transport, cannot comment on other facilities available
- Difficulties arise primarily from road flooding by field run-off, which could be alleviated in some locations be improved drainage
- Tall hedges mean you have less chance of seeing vehicles coming around bends
- Lack of public transport network

Q4.6 Would anyone in your household make use of a voluntary car scheme? Please tick one box:

Yes	1 (10.0%)	No	9 (90.09	%)
-----	-----------	----	----------	----

Q4.7 Which of these statements best describes your households knowledge and use of the Buzzard minibus service and Shropshire Link? Please tick one box per column:

·	Buzzard minibus	Shropshire Link
Use it often	0 (0.0%)	0 (0.0%)
Use it occasionally	1 (100.0%)	0 (0.0%)
Use it rarely	1 (100.0%)	1 (100.0%)
Know of it, but never	7 (87.5%)	7 (87.5%)
need to use it		
Don't know about it	0 (0.0%)	1 (100.0%)
Would use it more if it	0 (0.0%)	0 (0.0%)
better met my needs		
(please give details		
below)		

Comments • Would use a

• Would use a regular bus service, with service at say 2 hour intervals

 I have recently decided to use the buzzard owing to my age 87 but have not as yet registered with this service

Q4.8 Which of these improvements to the Buzzard, Shropshire Link and Public Transport services does your household think are important for the Parish? Please tick as many boxes as appropriate:

	Buzzard minibus	Shropshire Link	Public Transport
Advertisement	4 (80.0%)	5 (100.0%)	3 (60.0%)
Timetable information	5 (71.4%)	6 (85.7%)	6 (85.7%)
Routes	2 (66.7%)	2 (66.7%)	3 (100.0%)
Frequency	2 (66.7%)	2 (66.7%)	3 (100.0%)
Reliability	2 (50.0%)	3 (75.0%)	3 (75.0%)
Cost	2 (66.7%)	2 (66.7%)	3 (100.0%)
Service to my	3 (60.0%)	4 (80.0%)	4 (80.0%)
village/hamlet			
Don't know	1 (100.0%)	1 (100.0%)	1 (100.0%)
None	0 (0.0%)	0 (0.0%)	0 (0.0%)
Other (please give details he	ere)		0 (0.0%)

Q4.9 Does anyone in your household use the primary or secondary school bus service? Please tick one box per row:

	Yes	No
Primary school bus service	0 (0.0%)	9 (100.0%)
Secondary school bus service	0 (0.0%)	9 (100.0%)

Q4.10 If yes, what is your view about these aspects of the service(s)? Please tick one box per row:

	Good	Adequate	Poor	Don't know
Safety of drop-off points	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Bus shelters	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Access outside	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Corvedale School				
Convenience of routes	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Size of bus	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Other (please give details he	ere)			0 (0.0%)

SECTION 5 - COMMUNICATIONS

Q5.1 Where does your household normally get information about events and activities in the Parish? Please tick as many boxes as appropriate:

Corvedale news	10	School	0 (0.0%)
	(100.0%)		
Local notice boards	9 (90.0%)	Village hall	1 (10.0%)
Local shop (Aston Munslow)	1 (10.0%)	Word of mouth	7 (70.0%)
Local pubs	2 (20.0%)	Internet	2 (20.0%)
Library/van	1 (10.0%)		
Other (please give details)			0 (0.0%)

Q5.2 What does your household think about the amount of information available for local events and activities? Please tick one box:

Very good. 1 (10.0%) Good....... 5 (50.0%) Adequate . 4 (40.0%) Poor....... 0 (0.0%) Don't know 0 (0.0%)

.....

Q5.3				seful? Please tick one box: Not necessary 2 (20.0%)	Don't know 2 (20.0%)
Q5.4	Is your household av				
	Yes			No	0 (0.0%)
			(100.0%)		
Q5.5	Is vour household a	subscriber to Cor	vedale News	? Please tick one box:	
	Yes			No	0 (0.0%)
			(100.0%)		
25.6	Does vour household	have access to	internet broa	dband? Please tick one box	γ ·
				No	
			, ,		,
(5.7	If you do not have ac appropriate:	cess to the interr	net, please in	dicate why. Please tick as n	nany boxes as
			2 (50.0%)	Don't know how to use a co	mputer 2 (50.0%)
				Not interested in using the d	
	I have access elsewhe			3	()
	Other (please give det	ails)			0 (0.0%
5.8	If your household ha	s broadband wh	at is your ho	useholds internet use? Plea	se tick one hov:
J.0				0 (0.0%) Both	
	1 010011a1	+ (00.170) Duc	<i></i>	0 (0.070) - Dour	2 (00.070)
	search "My broadbar Download	1.9 mbs	·	phone service intermittent - li	nes are dug up by accider
	Upload	6 0.4 mbs			
	Opioda	4.78			
		0.45 mb			
		0.17 mbs			
		2			
25.10				r a faster speed? Please tid	
	763		3 (42.976)	700	4 (37.170)
5.11	Is your household av	vare that the Sun	Inn at Corfto	n is offering the following c	omputer services?
	Please tick one box	per row:			-
	D " '		Yes		No
	Broadband access		3 (33.3%)		6 (66.7%)
	BT Hot Spot		1 (11.1%)		8 (88.9%)
5.12	Diddlebury Village H	all has a computi	ng facility. De	oes your household wish to	retain this at a cost to
	the community of £4				
				No	4 (50.0%)
25.13				P Please tick as many boxes	
	Getting on line			Computer maintenance	` ,
	Ebay and shopping or			Digital photography	2 (100.0%)
	Using Email Other (please specify)		. 0 (0.0%)		0 (0.0%
	(prodes speeny)				0 (0.07)
5.14				ne? Please tick one box:	
	Yes		9 (90.0%)	No	1 (10.0%)
5 1 E	If you which notwer!	doe vour hous	ahald usaa n	lease tick as many boxes as	s annronriato:
J. 13				Talk Talk	

	O2 T Mobile Three	2 (22.2%)		1 (11.1%)
	Other (please specify)			0 (0.0%)
Q5.16	What is the standard of your household Very Good 0 (0.0%) Good 0 (0.0%)	's mobile si Adequate	. 1 (11.1%) Poor 7 (77.8%) Don't	ox: know 1 (11.1%)
Q5.17	How well do you think the Parish Counc Very Good 1 (11.1%) Good 3 (33.3%		. 4 (44.4%)Poor 1 (11.1%)Don't	
		HOUSING, E	DEVELOPMENT AND	
Q6.1	Will someone in your household require Please tick one box:			next 14 years?
	Yes 2 (20.0%) No		6 (60.0%) Don't know	2 (20.0%)
Q6.2	If 'yes', what kind of accommodation wo			
	Affordable housing to buy Affordable housing to rent			
	Accommodation for older people		Other	
Q6.3	Would your household like to see any no Please tick one box:	ew housing	g in the Parish over the next 14 years?	?
	Yes 7 (70.0%) No		2 (20.0%) Don't know	1 (10.0%)
Q6.4	What number of houses does your hous (as defined in question 1.2 above) over thousing). Please tick one box:	he next 14	years, i.e. up to 2026? (This is to incl	ude all types of
	1 to 5 6 to 10			
	11 to 20			
Q6.5	What sort of new housing does your how HAMLET? Please tick as many boxes as Large development in one area within your village / hamlet	appropriat 0 (0.0%) 2 (20.0%)	te:	5 (50.0%)
	Single dwellings in controlled locations		None	2 (20.0%)
Q6.6	(SCC) should use its powers to ensure	re: ecade on. These 2 renovation	2 properties are derelict and an eyesore. and occupation	The council
	 an asset to the village or serving any use 2 no ceder houses adjacent to Bouldon 	seful purpos House, and ea of outsta	ed for many years, wooden clad building se d on opposite side to road to Tally Ho pu anding natural beauty. Require upgrading	ub, are empty
	 Do not know address but as you drive it building on the right hand side that cou 2 semi-detached houses in Bouldon. O 	nto Bouldor ld be renova	n with the Tally Ho Inn on your left, there ated to re-develop, however, blocks in place	
	housing requirements2 empty opposite Tally -Ho			
Q6.7	Do you think there should be guidelines used in new developments? Please tick Yes 8 (80.0%) No	one box:		
•	,		, ,	()
Q6.8	If 'yes', please could you indicate what y	ou think th	ney should be here:	

- In keeping with rural and aesthetic nature of existing dwellings
- Materials and proportions in keeping with traditional buildings in the parish
- Blend in with existing buildings stone/brick
- The timber clad style is typical of this area. With some careful thought these 2 properties could be transformed into 2 desirable dwellings
- Building materials and style complementary to what currently exists which gives great scope as there is currently a mixture of stone, brick and wooden clad houses
- New buildings and their materials to complement existing vernacular dwellings. Traditional and local building materials desirable
- In keeping with location of new buildings
- Small dwelling in stone not brick

SECTION 7 - LOCAL SERVICES AND ECONOMY

Q7.1 Does your household have difficulty accessing or using any of these healthcare services? Please tick as many boxes as appropriate:

	Yes	No
Doctor	0 (0.0%)	10 (100.0%)
NHS Dentist	1 (10.0%)	9 (90.0%)
Private Dentist	1 (12.5%)	7 (87.5%)
Hospital	0 (0.0%)	10 (100.0%)
Optician	2 (20.0%)	8 (80.0%)
Chiropodist	0 (0.0%)	10 (100.0%)
Pharmacy	0 (0.0%)	9 (100.0%)
Mental Health Service	0 (0.0%)	5 (100.0%)

Other (please give details)

- Don't often need to use hospital, but if no car or too ill to drive, trips are VERY expensive because of distance
- NHS optical surgeon non existent in 2011. Need to treat privately
- Not at present which still able to drive and have own transport

Q7.2 If any of these services apply to your household, are your needs being provided for? Please tick one box per row:

	Yes	No	Not applicable
Disability support	0 (0.0%)	0 (0.0%)	8 (100.0%)
Loan of medical	0 (0.0%)	0 (0.0%)	8 (100.0%)
equipment			
Meals on wheels	0 (0.0%)	0 (0.0%)	8 (100.0%)
Counselling	0 (0.0%)	0 (0.0%)	8 (100.0%)
Home help	0 (0.0%)	0 (0.0%)	8 (100.0%)
Child Minders	0 (0.0%)	1 (12.5%)	7 (87.5%)
Social worker	0 (0.0%)	0 (0.0%)	8 (100.0%)
Community nurse	0 (0.0%)	1 (12.5%)	7 (87.5%)
Carer support	0 (0.0%)	0 (0.0%)	8 (100.0%)

Q7.3 If anyone in your household has difficulty accessing services locally, please indicate why? Please tick as many boxes as appropriate:

Lack of public transport	. 1	Poor mobility	0 (0.0%)
	(100.0%)		
No private transport	0 (0.0%)	Cost of travel	0 (0.0%)
Other (please give details)			0 (0.0%)

Q7.4 What is your households view regarding the following? Please tick one box per row:

	Very important	Important	Not important
Road cleaning	2 (25.0%)	5 (62.5%)	1 (12.5%)
Maintenance of roadside	5 (55.6%)	4 (44.4%)	0 (0.0%)
verges			
Mobile library	3 (33.3%)	5 (55.6%)	1 (11.1%)
Public telephones	4 (50.0%)	2 (25.0%)	2 (25.0%)

Q7.5 What other local services would your household use if available? Please tick as many boxes as appropriate:

Gardening	3 (37.5%)	LPG Buying Scheme	1 (12.5%)
House Cleaning	2 (25.0%)	Logs scheme	3 (37.5%)
Window Cleaning	4 (50.0%)	Mobile Shop	3 (37.5%)

Vegetable Box Scheme	0 (0.0%)	Energy efficiency advice	1 (12.5%)
Heating Oil Buying Scheme	4 (50.0%)	Laundry service	1 (12.5%)
Handyman service	3 (37.5%)	Adult Education Activities	4 (50.0%)

Q7.6 What type of business development or employment opportunities does your household think would benefit the Parish? Please tick as many boxes as appropriate:

None	1 (11.1%)	Light Industrial Units	4 (44.4%)	Farm Shops	6 (66.7%)
Garden Centre	2 (22.2%)	Computer Services	3 (33.3%)		

Q7.7 If anyone in your household is an employer within the Parish, what barriers have you encountered to employment? Please tick as many boxes as appropriate:

Access to housing	0 (0.0%)	Telecoms	0 (0.0%)
Transport	1 (100.0%)	Availability of appropriate skills	0 (0.0%)
Other (please specify)			0 (0.0%)

SECTION 8 - ENVIRONMENT AND CONSERVATION

Q8.1 What is important to your household about the Parish environment? Please tick one box per row:

	Very Important	Important	Not Important
Village Community	5 (50.0%)	4 (40.0%)	1 (10.0%)
Rural Life	8 (80.0%)	2 (20.0%)	0 (0.0%)
Wildlife Preservation	9 (90.0%)	1 (10.0%)	0 (0.0%)
Beautiful Countryside	9 (90.0%)	1 (10.0%)	0 (0.0%)
Peace and Quiet	7 (70.0%)	3 (30.0%)	0 (0.0%)
Access to open spaces	7 (77.8%)	1 (11.1%)	1 (11.1%)

Other (please give details) • Certain amount of noise must be expected as rural areas are made up of farms and the activities there

Q8.2 Does your household think that your village / hamlet needs any of the following? Please tick one box per row:

	Essential	Desirable	Not Necessary	Don't Know
Measures to prevent dog	0 (0.0%)	1 (11.1%)	8 (88.9%)	0 (0.0%)
fouling				
Street lighting	0 (0.0%)	2 (22.2%)	7 (77.8%)	0 (0.0%)
Flower / Shrub planting scheme	0 (0.0%)	2 (22.2%)	7 (77.8%)	0 (0.0%)
Improved flood	1 (11.1%)	5 (55.6%)	2 (22.2%)	1 (11.1%)
prevention measures	0 (0 00()		- (004)	4 (44 40()
Reduced roadside signage	0 (0.0%)	1 (11.1%)	7 (77.8%)	1 (11.1%)
More frequent refuse collection	1 (11.1%)	0 (0.0%)	8 (88.9%)	0 (0.0%)
Improved recycling facilities	2 (22.2%)	2 (22.2%)	5 (55.6%)	0 (0.0%)
Common green spaces	1 (11.1%)	2 (22.2%)	4 (44.4%)	2 (22.2%)
Community Garden / allotments	0 (0.0%)	0 (0.0%)	8 (80.0%)	2 (20.0%)

Q8.3 Which of the following types of energy production would be appropriate in the your village/hamlet? Please tick one box per row:

	Yes	No	Don't know
Solar panels	6 (75.0%)	2 (25.0%)	0 (0.0%)
Small wind turbines (less than 10m high)	4 (44.4%)	5 (55.6%)	0 (0.0%)
Large wind turbines (more than 10m high)	1 (11.1%)	8 (88.9%)	0 (0.0%)
Biomass plant	1 (11.1%)	7 (77.8%)	1 (11.1%)
Ground source heat systems	6 (75.0%)	1 (12.5%)	1 (12.5%)
Hydro electric power systems	3 (37.5%)	4 (50.0%)	1 (12.5%)
Other (please give details)			0 (0.0%)

[•] Each business and project would have to be taken on its merits and assessed as to whether or not appropriate, not possible to judge on examples given

	Yes					
	give accume	parked up narrow road	go arra oaro			
		Cars left in our farm gateways etc				
Q8.5	Has your household been adversely affected by flooding over the past 5 years? Yes					
	 Please give details Not in house or garden, but access up lane to through Diddlebury sometimes possible and cant get home Preventing from getting home due to road flooding - Patds Huse (?) and Petstrand 					
Q8.6	Has your household been adversely affected by anti social behaviour over the past 5 years?					
	Yes Please give details	0 (0.0%) <i>No</i> 9	0 (100.0%) 0 (0.0%)			
	Does your household spend more than 10% of disposable income on heating and energy costs? Please tick one box:					
Q8.7			SIS ?			
Q8.7	Please tick one box					
	Please tick one box YesDoes your home su	uffer from poor insulation? Please tick one box:	2 (20.0%)			
	Please tick one box YesDoes your home su	x: 1 (10.0%) No	2 (20.0%)			